2
[,

”mg'" ..“mm:l ks -
i R T e i i e, ot e

Sodleaiul.Gerer Gurb : 3 wewl |

PRt “QJ - """***
CSA2

3
Y
>
&
Py
“~
o
Ny
b

2010

Ceugdlullué
[ Gurss wHuCucossr : 300
dlemssense ufledls@uea dpsaa. sfla@raamen seueatorasl Ligssab.

10.

11.
12,

13.
14,

@&du ol
@re alenrg Cgreiy o Cogmpow (@bs Usssos)s Coaranleaag. Catey CaTkeD Crrsdie
aler&Gsrehous SnsEbuy somsradiiuret snpd cegdle Gugiempows Snsss el rg.
NemgOgrguous Fpbobugure Qriwms scnsrafiturefi_finby CubpaLdr Cugenpulier
wagLDses saanrs dPsas Hoss Cuam@d. sigaddr Cacallagnsg oo welssg
QsrLdiseurid,
Qbs ellerg Qprein 200 allamssmen s Qo ia@ereng.
adar alamseenaen ool wuddlsaan, aher alamisemd snwre nHUCLuangsst Qarani e,

ofemg Qereoy [A] . [B]. [C] sweasn [D] aa prarg afmsselle ssflin ul Gereng.
(@g)g,u usssdar GLg Cuod gpoellés 2 efen L peosl urisaabn) aladnaiugryt allenr g el
allessu allat_SeTelie speiear smwbgsia Gusde efisgs sramiés CuanGo.

L SNTGOIONE G  allememlugn T [—_:K_] adrgud oflerg Oerely CUODGHETE ST g

geigueoLw afemLpgrefler @remLrd vhahile afGém snailpgdiameury pab Soeg smow Bp
eyl Lbgpears Guamailard eflggs srie Gaicm@Bb,

(B]E]iB11CI D]

s his@han b Ubley e @beu LEBSSIE cuag Cua waalie sEhbiss semobgstan GlLsde
fuse s CaicnGn. Caun aagyd allains GEreulld apss s rg. '
ol smas edpas sl o, oo pgrer gap clegde scnsrafliuteamre gafluras
HrLudn. afle_ggrefldr wie ubssdic o bawmew ufle e, Cuwt whpn Cov@eter afluirhsaner
Phas aps Couam®ni- Hauflams 2 dAsag alaLssrel Qsdhargar&sCiL@n, ‘
2 hsEpeow udley o, GCpiagars: o waduabaopyd alorpsrdiar EUeakiith ussbhlé
HNOCUBEHHHETH  Siohgietar @ diselle Bab NERE oMo B OLEOLY  UbBpRHETD
Quamrallené @flsgs sl Cauan@n. Cubsaa alurbsaamen allem_gsrelé fhosr glisas anL g
saflenns 2 hise el gsrer GedarpaTsal@in. . : )
gaQenp eleomeyn (A}, (B), (C) wpgir (D} ear pratg oo samend Oeram@eieng. Bhas
Siemeusetiss Gy @‘%marﬂwnm allm_owug Carey Qabg e _sereflsd shldas smil S‘msﬂa@m.
gepbe CupulL sturer allolas gi Cosalisag tugned eamlame phas Slad sfurerg
aain aass seaddtalar she aflaLomu allagaraléd edlsss srir Guan@h. alugwurifigub

® Cadiallag GGr @ MoLomupgnd Caibblsdse Guaalin. 2 dagroLu Qs m@D&M&eﬁ
g&:&sﬁ oL samelé Ghsas or @b sfurar alloLadldar sanaflsmamus QuUIpEss.

alo_ggrefles gadamm Gadell awneadfiped eadifle (Al [B]l, [C] obpie [D] eer ébrrdu@.-

aeosa ks 2 corar. g Cadalie aleoLwdflss fhss sfbuar apgb oloou 501 g6
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oL Qurmefidr seraldgd ( x ) anbﬂﬁ)@iﬂml_&u aeguLd (t )
urr@m@un@gi 248 Yupddar aflure Qedgid CptéGarims a;smme{\g)g] Qbs

suenaLITet allenewimes g

A)  @wsd olenereuens B) wgu Soaraums
C) waprd aloataens D} @ueord aloeruams.

A graph between time t and substance consumed at any time ( x ) is found to be

~ a straight line through the origin. This indicates that reaction is of

. A}  first order S B) zero order

C)  third order : D} second order.

Qa:rr@&a»uut_:_ gt sieraeiar afflusss Qurger 60 ( a;@ug; ) g‘,hﬂl_mg,aﬂa: _
75% ﬂmg,susmi_(bg,na) DBt &emgcurrp SITILDITET G

A 2uaded B) 30 S user

Q) 45 P dmei - D) 20 DA ks,

‘What Is the hali-hfé of a radioactive substance if 75% of any given amount of the
substance disintegrates in 60 minutes ?

4a) 2 hours B) = 30 minutes
C}] 45 minutes ..D) 20 minutes.

9(:_5 aflerandler Gauspder g Qauflaedldr srésorarg Spssch. abs

sweTum g & surdlens Spflwerrd 7

Al curtgfm..ﬁ'surréni\)’ gwesumr® B) dtéardel sweatur®

C}  yflefiudv sweun@ : D) guTuSdu &me&mw@.r

. The influence of temberature on reaction rate is predicted by

A)  van der Waals equation B) Kirchhoff's equation

C) . Arthenius equation D) Lewis equation.

“ [ Turn over
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4. 2Cars afloaysd vuau@ssiuEd aloadds Cusgms ol QpTHach
Nevary sdsenms LweTUESSIUED el Gouswrerg sifeors @@uug[b@
STeooIh HHeT HentaOleTel ybme UG

) oflsb

B) . @opey

C)  swwrs (2-Cors allamearysbdl allamardd )-
. D) @eubpiet ergieySldens.

The enzyme catalysed reaction is faster than metal catalysed reaction because its
activation energy is .................... that of metal catalysed reaction.

A)  greater than
B) lower than
C) same as ‘ '
D) none of these.

5. @sfitergen Quiglléd srpealiLblase () @efigre @mLUULSHE HTyaD
A) &mur;rauaurﬂem Qlawedestméy
B @fitergen Quigid 2 erer aury alfleuaicugmeé
C)  uelésly Qﬁ]rﬂmm_mgrr_réa _

D) edfifergers Quiglasier eurydeefle Gméﬂaﬂms&ruﬁkﬁné\)

The cooling in refrigerator is due to
A) the work of compressor '
B)  the expansion of gas in the refrigerator
Q) expansion of ice

‘D) reaction of the refrigerator gas.
6. Geulu 2 fpedlencrie -a{g‘ﬂ&. afemenQUT®er 78 @G PpHlemeniids Her &G 7
A owr GleutiBlenes B} srp Qenufee
Q) GODHS S ftey D) @euppsh ergiapdleene.
In an exothermic reaction, high yleld is produced at -
A) higl'i térnperature B) loﬁr temperature

C)  low concentration D} none of these.

x . 14001

n



5 _ : CSA2
7. X +2Y aflenenQuUITBeget ereiip afleneriller apeud oy erador
A 2 , B) 3
C) 1 D} O
In the reacﬁon X+2Y > Proaucts. the molecularity of the reaction is
A 2 | B 3
c) 1 D) O
8. Curger LugeTeTgGT s S Camaiub GepbasLL & B bHD
A} FyeyGegmn’ ubme B) dleritey Qe uhped
O slger gyppe D) s gbp.
The l;lhnmum énergr required for an effective collision is
- A) lthreshold eﬁergy - B)  activation energy
C) free energy D} intemal energy.

9. 'émﬂ'ugﬁ\mm 2 wiggeugre ollemarflén CGausnrarg e Sdevrs 2 wuiughE
&N eTid |

a) Curgaseier aamaiéams 2 wieugme

B) dlentaypp pevdsanssiler aatatisbans 2 wiagre

C) dlaraberear gbpe GempeugTen

D) syreflé slger aifl @opeusTd.

A large increase in the rate of reaction for a rise in temperature is due to

A) increase in nurﬁber aof collisions

B} increase in number of activated inolecules

C}  lowering of activation energy

D}  shortening of mean free path.

: x - . [ Turn over
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10. woe aloarcumaiara o) Hange sreud
A} oyybu. L a6 @urr@ﬁsg,.gi 2jeve
B) | 27U S Falpe Gg,ri’aﬂéﬂgié\éu 2_efrengy
C)  &you &Lﬁaﬂ&)@ soedp aldlgsdle o ereng
D)  @eubmyel a@mﬁ\eﬂ)m@. |
The half-life of a first order reaction i;s
A) independent of initial concentration
B) dlr;:ctly proportion_al to initial concentration
C)  inversely proportional to ﬁitia] concentration
D)  none of these.
11. &ppuypgdlen el Cprdl, aliQumapgid
A)  eondpg B) wgub
C) wrorg gy D) sflefsdng.
Entropy of the universe is always
A) decreasing . B) ZEero
C}) constant D) increasing.

12. 28 gbHpe wrdpb (A E) erdrgral wrppb ( A H) wHpid Came ( W) aflibeg 2 erer

@grLiy
Al AH=AE+W | Bl AE=AE-AH+W
C) AE=W-AH D) AH=AE-W.

N

The relation between internal eriergy change A E and enthalpy A H and work Wis
Al AH=AE+W " B) AE=AE-AH+W .

C) AE=W-AH D) AH=AE-W,

x| 1402 _ 14001
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13, g soeisae Coudls Qewdperpiiien Lugn SHDEr THDLTETE)

A)  Gpisgd
B)  aftésh
Q) wgub

D) Gagdl allwourag Geau 2 dlp sdeg Cau GQardaloer edus
QuUITpISSSI.
For a spontaneous chemical process, the free energy change is
~ A)  positive
B) negative
C) zero
D} depends on whether the reacﬁon is exothermic or endothermic.
14. @ Bitwd g elurgeld Gurg “
Al  aa@rgrésell o whAng
B) aegrasolilée aps wrppepd Ghoe
C)  edngrassl gopdng
D) 2 ei@pep HHDed GODAD.
When a liquid evaporates, there is
A)  an increase in enthalpy
B) - no change in enthalpy
C) adecreasein enthalpy
D) a decrease in internal energy.
15. ‘é;hlfa'u';isf Beveen olfurarg sofigumrlers aaiaurg empiuGdng 2
| A) F=C~P+2 By F=C-P+1
C) F=CiP-2 | D) F=C+P-1.
Gll_)bs Phase Rule isn{athematically stated as | |
A F=C-P+2 Bl F=C-P+1
C) F=C+P-2 D) F=C+P-~1.

«[153] | { Turn over
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16. o© Hamwod Finvsrs wrpnGurg, e Gyrd
A)  eopdpy B) 2uwpdpy
C)  wrprodmsding D)  @eupbpuen Grg';mﬂéusu)m.
When a solid is chapged into liquid, the entropy
A)  decreases ' B) increases
- C)  remains constant D) none of these.
17. g© aleaner a,l.'_l.q.mn.' 2 hmé wrppwreng { A G° ) yHuwrs 2 sieng. 2ig
A)  sufloe allenen | B) garaféens afamen
C) saraNsmswpn aleveat D} @eubpst sgaiblame.
The standard free energy change ( A G°} is zero fér a reaction
A)  in equiltbrium ' B) | spontaneous
C) non-spontaneoué . D) none of these.

18. g6 il Qalufoalld, g6 aloau® Gureallds o faan dlalsard,
2561 gl wrHed

A) . sfeflsen
B)  @opyb
_ C) wrhpspdhe 2L uLrg
D) el 2wibg Ipe eopdpg.

At a constant temperature, when concentration of a reactant is increased, the

equilibrium constant
A)  Increases"
' 15) decreases
é) - remains unaffected

D) first increases and then decreases.



19.

20.

21.

9 | CSA2
@ Broksoe sabg 66 fTows sojsoe LLTEED Quryg,
HPé& B EL_eeusHeTicr oG 2 EmemLTeTg ?

A) AG=0 B) A_He.as)gee‘oato

C) AS>0 D} AV>O.

Which of the following is true when two liquids are mixed to form an ideal

solution ?
Al §AG=0 B) A H of solution #0
C) AS>0 D) AV>O0.

Ng(:cunu.{) +3H, ( eumy) = 2 NH, (eumy); AG= 93.7 kJ aatp aflemeardlé
cgqih(ﬂpmrrsuﬂwr‘r ( eSemerQummeir ) et .gqen;m alQuTWwe sflefNéarg 2

A upssd sPefleed Curg

B) : Qeulubleeenu @ens@d Gurg

C SWwbssms GoPsGD Curg

D) eSlement seugdlen st eney GOPSHGD UTWE.

In the reaction N,(g)+3H,(g) == 2NH,{g): A G=93.7 kJ, the yield of

ammonia does not increase when

A) pressure Is increased
B) temperature is lowered
C) pressure is lowered

D) volume of reaction vessel is decreased.

Tyré eSlglulesr swebtLir(

A nk = 20sin@ b) nkA = 2dsing
C} "2ni = 2dsin D) n% = g— sin A,
Bragg's law is given by the equation

A) n\ = 20sin0 b) nA = 2dsin@
C) 2nA = 2dsin® D) ng=2sma

" ' l’l‘umovei-
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22.

23.

- 24.

25.

SlesramyHenguyb, Qmﬂu;’bmguﬁo BTG SiSG&Hen Lig ST

A) el Ly GRS | Bl e& Qemewiiny |
C} 2Canms D) apauéeay.
Crystals which are good conduétor of electricity and heat are
A) ionic . B)  covalent

C) - metallic | D) molecular.

B QuTst GeatampalL SFlowrer LIgs SeLlLGHeT Clar ey BUUSDHE

4A)  umedwmiSenid B) sudleoe

C)  qpbemwo yefiafl D)  THowHDE.

The occurrence of the same substance in more than one crystaflinc forms is
known as

A)  polymorphism | ‘ B) equilibrium

C) triple point: D) invariant.

PG UYE Souille gueflaar Goss Gaudmgu GLidd @d)mrrweﬂ@ﬂugj,

Sp&aaiLanaseild ehs cumsa FIthHgl ?

A)  F-gewiy - | B) = eamihs @on

Q)  Syar@ee @smr_r) D) evard Geon.

In a crystal some ions are missing from normal sites. This is an example of |
A)  F-cenires Bl Interstitial defect

C)  Frenkel defect ' b) Schottky defect.

UyestGisds @emp CuTgieurs &psacsor aeaudeio rdlé embyb 7

A)  AgBr B) ZnS

C) Agl | : D) @ J@aTHEIO.
.' Frenkel defect generally appears in _
A} AgBr . B) ZnS
- C)  Agl : D}  All of these.

« (5403



26.

27.

28.

29.

11

CaF , & ypGleusfl i Loy

A) s Peuser GlereL sers gy

B) Gur@me enwow a.eur&g;mb_
C) eaeilu saragyb

D). smplara Lgsb.
Space lattice of CaF , is

A)  face centred cubic

B) | body centred cubic

c) . simple cubic

D) hexagonal closed packing.

Spssao. yHmen@adr Do HaTeg a5 ?

CSA2

A) aGenquid & B) Gamuréll gy&emev®

C) fafllub b : D) e tLreflub gy demenE.
The oxide that is insulator is

A) vO B) CoO

C) ReO, D) T,O0,.

Og;pé’:EBGGBTL.,. Ly shseie ag Sfle Lgs K HDe CemeL g

A) Quriirfud @lameay( B) Qmé_eofé\ustb S &men(d
C)  Sipflubd yGrremo® D) Gemgubd yewegQ.
Which of the fqllowing crystals has the largest lattice energy ? o
A)  Kal B} Mgo

C) LiBr D) NaF.

WP DL FRTEHTHED THHOD HEEHET OBTaETL g ?

A prae B <o

C) &0 : D) uelGipeim(.
The number of atoms in a face centred cubic unit cell is
A) 4 B) 6

C) 8 | D) 12

x[1402]
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30. OKaflé ysw blergenwelen Qe

A bt sLgdlael B) = sLgdlaer
C) e sLsaT58 ' D) ued de s sdaer.
The substance which poséesses zero resistance at 0 K is
A)l conductor ' B) superconductor .
Q) insulator ‘ D) semiconductor.

3l. dpsacil Bio soysdadis ag Hasrysos sLssME 2
A H,SO, Bl NH,
C) CH,-COOH D) C,H4OH.

~ Which of the following aqueous solutions does not appear to conduct an electric
current in a conductivity apparatus ? |

A H,SO, . B) NH,
C) CH,-COOH | . D) C,H/OH.
32, 51.55&5\[9651;61 &euedt ﬂsnm;_lq.Gm[b[mh ge Qelwindng 7
A)  peoeypgoe pHss
" B)  swelldr NarCpé@pdpana pallfés
C) OCaluwrgeoan gHéEs
D) sssn e Blgbs.
" A conductivity cell is platinized )
A) | to avoid polarization effect B) to avoid capacitance of the cell
: C) to avoid t_emperatﬁre effects D} to prolong its effect.
33. @B sorsasea Qeaaiseh ureifle Qurliirdflud Glarer®
ums&rﬁ@&@&u@aﬂqj@. gD,
A  geri-gETi aerp Gigpeved Léﬁrerrg;
Bl Quriirflub @Caray® @ Weatugsfl

C) OGuriLrdub vppd GCaTear® Sjuallsd &8 2u@neb BT oo

QC\swetor__ e

D) QuriLrflub glamar@ sCamos Wetpaeaidld 2 sieng.

x[1e02] * .-
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In a salt bridge, KCl is used because
A)  agar-agar forms a good jelly with it
B)' KClis an electrolyte
C) K*+Cl- have the same transport number
D) KCl is present in the calomel electrode.
34.  sevleureuger Brige o) aglam® Ul Lu@Sng
Al siflebser B) ey @aoney Werugeflaen
C)  sirghien D)  eugy By Bearugeiast.
Ostwald dilution law is applicable to
A} acids B)  weak electrolytes
C) ‘“bases D)} strong electrolytes.
35. Qarrfle 2 dien uaBaupy Baugeh sorsasdla, §Cr sjoe Weaaryo
T Qeesstiu@d Curg deLsgh aloaOlurmpet aahGé Funrs GIBHGD 7
A) T ewpuhdles gy eTemL B) Geudl snmed
C)  dlgmd epavdang Gemsiensney D}  dlgrb ogm) Sjwel.

When the same quantity of electricity is passed through the solutions of different
electrolytes in series, the amounts of products obtained are propertional to their

A) . atomic \f.reight B) chemical equivalent
'C}  gram molecular volume D} gram atofnic ion.
36. geu wLHRDG an&dle Cashmidlarug euguaeter latugeflaer  saglurefie
wopeugiors SPba ..o . ’
A sweheer Blasrydeng sl sadlemet
B) ' esf) whpid Qeulngers smdsinper
C) eaGaslgrersaen g@aﬂs&rmm
D) e ulSeflger wpmb Bit Herenrsa et peitdlaimet,

« 43 (Tor
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According to Debye and Hitickel, strong electrolytes in solution gets completely
broken into

A}  charged particles that conduct electricity
B)  light and heat
C) electrons

D)  salt and water that move with current.

37. E° wdliy Mg?*| Mg, Zn2*| Zn wpmpid Fe?* | Fe weonGu -2-37V, -0-76 V
& - 044V aafies paymeuareuppien ergy el 2

A) 'Mg; Fe - 26afigpCGeanppld e ws Q&tﬂ&ﬁ]m@
B) Zn, Fe-gm %é,sfﬁlggc}mﬁ)r;pﬂ) eoLwé Qeldlipg
C) Zn Mg?*-g @@éa.msm;_mé AESTEATY

D) - Zn, Fe?* -p Oés0amLLE Qeu‘.uaﬂg)gu'. '

E° values of Mg2*| Mg, Zn?* | Zn and Fe?*| Fe are - 2-37V, - 0-76 V and
~0-44 V respectively. Which of the following is correct ?

A} Mg oxidises Fe : B Zn oxidises Fe
C)  Znreduces Mg?* | D) 2Znreduces Fe?+*,

38. Uy @CBetmanyymba 11-5 dgmd erenweiien Gamgwb AerermhL@dsedesr apevid
. a@elles aauetey Barambne Caomaiiu@dng 2 | '

A) 05 umpGL - B 1.0 LJITU’(BL

C} 1-5 urg G _ _ D) 96500 sagb.. |

The charge required to liberate 11-5 g of sodium from fused ch]or!der 13
A)- 0.5 faraday ' B 1.0 fara_day'

C) 1.5 faraday _ . D) 96500 coulombs.

«[1a0z] |
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aupby &b gﬁ’ﬁg,g,su gE\cmeouﬂaJ GeuQaur® swetuler Wer 5L.g>§;6516m LEGahy
,@mmpgmnm@ &rrrr;bggeosn Qs e@Camret srg,g, Qa,rrsfrsm&. @muumL_qura,

Ceretorg 1

A} Gararey eﬁlél B)  Heremmd u@oledr @56:951@

O Dereinh ugier Gyamend alf D) gysveur’ afld).

"At infinite dilution each ion shows a characteristic contribution of conductance

which is independent .of the other fons present in the solution. This is the
statement of ' '

A) Kohlrausch's law | B) Flfét law of electrolysis
C)  Second law of electrolysis D) Ostwald's law. |
@@mq aqrﬂusmu g,@és&. The g,cﬁﬂmg;mg, (_Lpsurrm QalLdCprid 2

A) Gemgquid ' B)  srédlwb

C) Guriirdwd D) .

Which metal is used as a coating on iron to limit corrosion ?

A) Na B} Ca

0 K | | D) Zn.

. 96 gellsn aGesl gt priL Sl ety g GDIGHDG ?

A) gL presr erglifliy

B) s yres nrﬁug

C)  uyCpmiLmes Gerey

D) Gagy si@ma & aQesl yraraamen LAEGH60.
Electronegativity is the measure of the capacity of an atom to
A) repél electrons

B} | attract electrons

C} . combine with protons

D) share electrons with other atom.

+[55) [aor] [ Turn over
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42,

43.

45,

710} a{@mﬁ]aﬂ a@eusL_ebr Qmeoaaaﬂcm S{emoliy 152 2s2 2p 3 qetpé 35566166‘{

Qe a@esl pTasel G 2 otene 7
A) 1 B) O
¢ 3 . D} 5.

The electronic configuration of an atom is 1s2 252 2p 3. The number of unpaired
electrons in this atom is ' ,

A} 1 - B 0

C 3 | D) 5.

&péaedorL. émﬂmiﬁjmsﬂd) g Ba&Gophs SWaluTshGn Sibpe C\HTer. e ?
A HgHub (Li) o B} Gumymer (B)

Q) Quficdud ( Be) D) yeseor® (F).

Which of the following elements has lowest ionisation energy ?

A L ' ’ B) B |

C)  Be ‘D) F.

g auflers L cusmamliés arhs g Sfle aGasTTe HTLLD Cleream g ?
A fhud - B) @Qermlsr

c q@smfrﬂa‘n D) Guflwb.

The most elécti:fonegative atom in the periodic table is

Aj Caesium : | B) Chlorine

C)  Fluorine | D) Barlum.

2 ehenmiihe emQDLyRet Neneaoiy erdlé 2 ererg 2

A} i B) agdlé g oaanmé

C) Sfilgs spbled D} ercldleds spfleuid.
Intramolecular hydrogen bonding is present in

A)  water : | B) ethyl alcohol !

C) acetic acid D)  salicylic acid.

x | 1402[



46.

47.

" 48.

49.

17 , CSA2
\s?gpéac&cn_mj)@dv agler salflaneoriy Gareotd Siflewrs o srerg 7 |
‘A H,0 | B NH 4 |
C. CH, D) C,H,.

In which of the following the angle between the. covalent bonds is greatest ?

A H,O B) NH,

¢ CH, | D) C,H,.
_‘et.ngr;a‘_l;rgca'r tpevdsablés ﬁlmmﬂq euflenedlesr iy

A) - 3 ‘ | B) 4

C) 2 ' D) 1

‘i’l‘he value of bond order in nitrogen molecule is

A 3 Bl 4

é) 2 D) 1.

'Eg)sué;an@ A e Qencrasllaiug ahs cpebhaan $5aCuraTg ?
A C, B) He,

C) Hy D) He,.

Which of the following cannot exist on the basis 61' MO theory ?

A c, . Bl He,

o Hy D) He,

[:'E;No;’oug,eﬂﬁ ugsHBd erhgauams Vaeniy 2 areng 7

A)  eumetLfreuréven - ‘ B} \Hengpemest seurréd

?) ‘ smg_)ml_'_ljgsh Slemesoiiiy - D) @ebper agebdene.
’:I‘he force present in the crystals of Naphthalene is

A] van der Waals B) e_lectrostatic

Q) hydrogen bonding D) none of these.

«[1302] R -[T4001] [ Turn over
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50. DNA Qgm._flé snjhs@nse e Guuefen Senemoriiy
A) smﬂgml'_ggs&r Senemariiy | : | B) Berpenen Seneooriy
C) ssufNemeriy -b) a.lrrafurg_l'r curré:@ Nenemoriy.
The coupling between base units of DNA is throggh
A)  hydrogen bonding - B) electrostatic_bonding
C) | covalent bonding D) . van der ;:Vaa]s forces.
51. @wm@ PH g gl
A 70 - B) 74
C) 6-4 . D) 4-0.
The pH of blood Is’
A) 70 . B) 7-4
C) 6-4 Dj :4-0.-
52. H,S80, afL CH, COOH gue&cq SODHBE. HTFRTD
| A) o H 2‘86 . B Gure 2iflpse éeﬁrmmwﬁ)w .‘
Bl s copbs i Iosua fipg

C) @ophs Caiuboadié Hagaem_dng

D) o weosspiide g H* suaious s6Apg.
CH; COOH is weaker than H,SO , because

A) it is not as corrosive as H o S0 4
B) it ionises to a small degree

C) it decomposes at lower temperature

D) it gives only one H * ion per molecule.



53.

54.

55.

56.

19 S CSA2
eﬁ'@é&c&m‘n_mmasﬂé) ag Fe HNHHTeND L@Luigj 7
A} OH- B) RO-
C) NH; o D) R-.
Stt'ongegt base among the following is
A) OH- B) 'RO"

"C) NH, - D} R™.

spesanmausaled gy GQeoerfl Sy ebravr L cgauﬂmmrre,cﬁfn 5rr|j1}m&a'1fn
QewuiLRfng

A co}l” B) H,0*
C) BF, D) HSO, .
Which of the following can act both as Lowry-Brénsted acid and base ?
A) . co}” B) H,O0*
C) BF, | D) HSO, .

Epsaco_masdld ag gl Sibldinrs Ceudu alleame
A) AICI, B) BF,

C) NH, - D} FeCl,.

"The compound that is not a Lewis acid is

A)  AICI, | B) BF,
C) NH, D) FeCl,. |
@qgggﬂs&r Geughfwe QUW@I'_J;@DI:D. CO ,wpnip H,CO , b @rsssde pH g
Heove Bpssdemmer. G -..... RO Ten SePSHHILHD.
A) s allener ( Glswe ) B) gmisé Glawe
C)  sbflepgeann D) 2.luj swred.

The pH of blood is mantained by CO , and H,CO , in the body and chemical
constituents of blood. This maintenance of pH is called

A) Colloidal action _ B) Buffer acﬁon

0 Addity . D) Salt balance.

:; [ Turn over
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57. CH,COONa + CH ;COOH sameaé@ Hery Gerggiler pH e wrhpb eerter 2

A sfsfsdpg Bl @opdpg

C) wrpmodiwsdng "D) G oveu SmerHEid.

What will be the change in pH of mixture of CH , COONa + CH ,COOH after
adding water ? '
A) Increases ‘ : B) Decreases -

C) Constant | _ D-) All of these.

58. pfleén SwalliCuBsHad Apsacmaauseilen aganre Haflédng 2
A SWHsHES GDODEGD G
B} H?* &mmélmmé Gairé@b CQuUTWE
C) OH - sweflenws Garseib CuTgs)
D) OGealudeau aﬁﬁrﬂ‘a’a@m Qurapg.
Ionic product of water increases {f
A}  pressuré is reduced
B) H* jonis added
C) OH- fon is added
D) teinperature is increased.
59. dpssaor Cgrysefle a@.Qur@ sjwef) eflemeralemeré sTLED 7
A)  BaCl, +Ba (NO,), * B) NaCl +HC
C) NH,OH+NH,Cl D) AgCN + KCN.

Which pair will show common ion effect ?

A) BaCl 2+m§$3) 2 B)  NaCl+HCl
C) NH,OH +NH,Cl D) AgCN + KCN.

x[1403) o - [1a001]



60.

61,

62.

21 | C8A2

FpsacoL. Gatotimells arld oCurrg eflei %é‘ser&gg@sm_bg)' sn yfleors o_seng 2

Al KO, B IFy

C K, D) KL

Iodine has highest oxidation number in the compound

A KO, B) IF,

c K, D} KL

B,Hgé

Ay Gurgmen-Burpmes GlenL.Cu Crflemwrer Nenemriiy 2 eeng

B) C,H, Gure eugeiemi 2. efeng)

C) @ungrr.s& @q@jé&&,sﬁ assg‘mﬁqg;a’n urebiseileTTe @)enawihgen e
D) aéer &@é&@ful Gy pengdles BjeminhbgieTene. |
InB,H,

A) there is a direct boron-boron bond

B) the structure is similar to that of C, H ¢

C) the boron atoms are linked through hydroggn bridges

D) all the atoms are in one plane.

é;i’ggé,&sa%rt_mmaseﬂéu &g QBTHn FaHurs LweTLGHDPS 2

A) - Gurrrﬂé'; Sbleuid B) eallyfé oyubled
C}  umevuyev Hyblevid D) urevurflé uflen.
Which of the following is used as disinfectant ?

A) Boric acid . B) Sulphuric acid

Cl Phosphorus acid D) Phosphoric acid.

x . ' { Turn over
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63.

64.

65.

STHTG0T &GOV, STETLIG HiPpHHITIL areuselléy ahg Hevemeu 7
A) SI0,,Na;SIO,, CaSiO, |

B) SI0,,Na,CO,. CaCO,

<) Na,CO,.K,CO,. 510,

D) SiO,,PbCO,, CaSiO, .

The ordinary glass is a mixture of

A) Si0,,Na,SiO,, CaSIO,

B) Si0,.Na,CO,, CaCO,

C) Na,CO,,K,CO,,SiO,

D) S$i0,.PbCO,.CaSiO,.

2L HNO ; ureébugenen &p&saoreeaiseiies ageurs o &ballgpCarbpoam wé

Qeldipg 2

A) H . PO B) P,O
3 4 ) 25

C) H ., PO D) H,P,O.,.
37+ 3 : 4 4 2V7

Conc. HNO , oxidises phosphbrus to
A) HZPO, By P,0q

C) H,PO D) H,P,O,.
3t 4t 27

Oeuegm umevugen a1y Gamir ety e efleveryfihs PH ; wppie NaH , PO, %

snADE. B FHpssaomeasele ahe eNOOISHETE 2 HTFEID 1
. LY
A) oy sallgGarpplb B) gG&sb
C) pRHeeUT&ESD D) cgéa&g@m[bmlb - pB&eD aleer.

White phosphorus reacts with caustic soda. The products are PH; and
NaH , PO, . This reaction is an example of

A) oxidation B) reduction

C) neutralisation . D) oxidation and reduction.

«[1402]



66. -

67.

68.

69.

23 CSA2

apLfé fled Burgan &1 alleneaytibg GarHriug

‘A)  HIO, B) HI

C}) NH , 1 D) HIO
Nitric acid reacts with iodine to form

A)  HIO, B) HI
C) NH,I D) HIO,.

L& Gavador whmid B wenpid gurtldsln@eaig

A)  H,SO, B) HNO,

C) HCIO, ‘ D) H,PO,.

Birkland and Eyde process is used in the manufacture of

A} H,SO, B HNO,

C) HCIO, D) H,PO,.

2 CGarshset HNO , Qaran® g selipes ghpoaLcug sfgpéaema_mm&esﬂé: EROGLI
QuUTTISF W () LTDTE ?

A) 2 GQansidlar geten B) HNO, ¢t o fiey

Cl Qeauublers D) alemerysdl.

Oxidation of metals by HNO , does not depend on

A) nature of metal B} concentration of HNO ,
C) temperature D) catalyst.

HNO , £péocin_aeaseaile aga s allaayfipg smpo sduerd sGHpg

A) H,S B) HgS

© cas, D) CaS,0,:

Colloidal sulphur is obtained by the action of HNO , on
A) H,S ' B) HgS

C) Cas, D) CaS,0,.

X [ 14001 [ Turn over
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2 afhg KNO ;6 Sg ot H, S0, Goised Qurus e red uwoy Hip

-

so,

NO,,.

When conc. H,80 , is added to dry KNO, , brown fumes are evolved. These

70.
( Oyeyedt ) sumy
A SO, B)
C N,0 " D)
fumes are of
A  so, o B)
¢) N,O D)
71. CH,=CH-CH (CH,}, & IUPAC Quut
A) 1, l-eoL Ssengé-2-4Cyrules B)
C) 2-alenené ySyriGues D)
" JUPACnameof CH,=CH-CH{CH,), is
A) 1, 1-dimethyl-2-propene B)
' C)  2-vinyl propane D)
72. ‘CHy- CH-CH,-CH,OH & IUPAC Quuit
I .
CH,
A) 1-Gueierméy - " B)
C) . 2-8amad-4-yylLamd D)
The IUPAC name of the compound
CH,- CH-CH,~-CH,OH
. :
CH,
s
+A)  l-pentanol B)
“¢)  2-methyl-4-butanol D)
x

SO,
NO, .
3-Spengeén-1-dy L wesr

1-@aryCrniemus sEseler.

3-methyl-1-butene

1-isopropyl ethylene.

GluebtL. & év

3-BHemGeo-1-Ly L L eorméo.

pentanol
3-methyl-1-butanol.
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73. CICH, - CH, - COOH e TUPAC Quwrt

A)
B)
Q)
D)

3-gC8emr Gy LCrmueiTilé Syubleuid
2-gQerrCyr LCgrurermié Syflevn
2-gCemCyr resarmdlsd Sybeud
Qe s&ellailé yblevd.

IUPAC name of the compound CICH , - CH , - COOH is

A)
B)

o
D}

3-chloropropanoic acid
2-chloropropanoic acid
2-chloroethanoic acid

chlorosuccinic acid.

74. CH,;~CH-CH,-CH-CHO alledr ITUPAC Quuwit wirg) ?

A)

B)
)

D)

| I
OH CH,

4-66)5}&)1'_{-}”&6’6] -14SHemgé Qusé'n_mrréa
4-ananlgréedl-2-S5emgd O erme
3-eman gréedl-2-SEamsd G arme
S-mgmﬁqrré)er& -3-B5engd QueTL mme.

The IUPAC name of CH, - CH -~ CH, - CH - CHO is

A)

B)

C)
D)

I I
OH CH,

4-hydroxy-1-methyl pentanal
4-hydroxy-2-methyl pentanal ®
3-hydroxy-2-methyl pentanal
3-hydroxy-3-methyl pentanal.

75. (CH4),N-C,H e [UPAC Guurt

A)
B)
C)

D)

X 1402]

oL ISHFH FEemsH e
oL Bpess oG B55Cs@
oL Bsmae fiGerr rgGaebr

N, N-eoL 8gengér HblCGarm riCgeir,
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CSA2 26
IUPAC name of (CH,), N~ C H is
A) Dimethyt ethyl amine
B) Dimethyl amino-methane
C) Dimethyl amlno-eth@e |
D) N, N-Dimethyl amino-ethane.
76. KjFe(CN), gassafler [UPAC Qi wrg 7
A) Qurﬁl.urzﬂuh Qaser swGenm Gur'réi;ﬂ.‘. { III‘]
B} OQum i réub Qﬁﬁ@qn suemen(® e ( 111)
C)  Qum_Lrflub Qgﬁ&&rr &mG'a.mr QuirGrL (1)
D) Guriirflub sw@eanr Ggmésr G\ur;rGlj'LL (1 ); :
IUPAC name of tt;e compound K sFe(CN), is
A)  Potassium hexacyanoferrate (11I) -
B) Potassium ferrocyanide ion { 11l )
C) Potassium hexacyanoferrate { 11 )
D)  Potasstum cyanohexaferrate (11 ). .

77. [ Pt(NH,), NOLCI ] SO, apevbsefleir IUPAC Guuay agie.

A) @Qenr@rnm Jermiigeond IV ) s60Qu.

B) Guigr gubes @@emrCyr enplGrm GNenmiigeond { IV') s&Gur

C)  epGyr @GemGym QLLm.gntﬂsﬁf dlemmgeorid ( IV ) sCul
D} Qemmigqend ( IV ) @t L Sl Bl Gy @GenrGyr seGuL.

~ ' TUPAC name of the compound [ Pt ( Nﬁa) , NO,Ci ] 504 is

A)  Chloronitroplatinum ( IV ) sulphate
B) Tetramine chloronitropiatinum ( IV ) sulphate
C)  Nitrochlorotetramine platinum ( IV ) sulphate

D) Platinum ( [V ) tetramine nitrochlorosulphate.

x[2402]



27 ' ' CsA2

[ Co (NH 3} ] Cl; essder [UPAC G\ulua»;r T

A) ngéwrnﬂdn Garuméu ( II) @Gerrrrang@
B) cﬂl&Gmrr Gemurd (111 ) GCemeany®
C) Gosrrurréul'_ @Qemrenr(® Canshembier

D) ngés&mfﬂsm Leng Gearrumeol. @(Batrremg@
IUPAC name of the compound [ Co ( NH 3] ] Cl,

A}  Hexamine cobalt ( III ) chloride
B) Amino cobalt chloride { 111 }
C)  Cobalt chloride hexamine
- D) Hexamine tricobalt chloride. ‘
79. Nayz[Co(ONOJg | pebambenr IUPAC Quui erapg.
4A)  Gemgqub Gamurel enm_ Gyl
B) . Gsmguwid ngé&n opr oy Gur GarurénGLr { 111)
C) Gemquid Qamssr enplCyn Camurdl. (111)
D) Gemguid Qm&on en Cor Camumre@uy. (1)
' IUPAC name of the compound, Na ; [ Co'( ONO), ]is
A)  Sodium cobalt nitrite
B)  Sodium hexanitritocobaltate (Il )
C)  Sodium hexanitrocobalt { 111 )
D)  Sodium hexanitritocobaltate (11 ).
80, [Ni(CO),] wpossplen IUPAC Quuit aaps

A7) | Qulpgrertaueie Hesd (11)
B} GLgrarieueté Hléed (0)
'C} Quignerieuerd BlésaGal (1)

D) G iprerfeuerd HésCGal (0).

<oz - [3eoen] { Turn over
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IUPAC name of the compound [ Ni{CO) 4] is

A)  Tetracarbonyl nickel ( 1I)
B} = Tetracarbonyl nickel ( 0 )
C)  Tetracarbonyl nickelate (II')

D)  Tetracarbonyl nickelate { 0).

8l. Quendfen 2 wihs eaplymey suaer® LHRD eaplrmeér GRaTTar® BIHD
s@flaflub elarrear® drafllaewdla 2168 alloayflybd Cuig &pés o
epevdennl 2 heurSlpg '

A} @QemBynm Guemden B) GuetGerié pbleod
C) Guensréagaran® D) ewGenm Quende.

Benzene on treatment with dry HCN and HCI in presence of anhydrous AICI
followed by hydrolysis forms:

'A}  Chlorobenzene B} Benzoic acid

C) Benzaldehyde ‘ D) Cyanobenzene.
82. g.ereirig arledlphe e wmaurdlng 7

A)  Qugyrdled . B) smels syblewd

C) Quenden D} QuenGerlls gyblevs.

T.N.T. is made from

Al Toluene B} ' Phthalic acid

Q) Benéen’e ) D) Benzoic acid.
83. @CenrCyr Quenden anpL By ghpd Cleligme

A)  oep Gy gGemmCrr Queande

B) m-eonCpr @@enmGym Qus&#’s&r

C) p-op Cyr &CatrCyr Cuen e

D)  o-whmd p-eoplCpr @CarmByr Gueidel.
x 14001
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Chlorobenzene on hltraﬁdn gives
A) o-nitrochlorobenzene
Bj m-nitrochlorobenzene
C) p-ﬁiﬁochlorobenzene
D) o and p-nitrochlorobenzene.
84. Quendafis 2 eter gupr C - C JoramiLs@nd swpend Qara.g. goeTaprs
A) @uig sobae B) spl@erssaiiurisd o
C)  sp?@rseaiurdad : D) s_L__s:uﬂm&m.
In benzene all the six C - C bonds have :the same length because of
A)  Tautomerism : B}  sp? hybridisation
C)  sp? hybridisation D) Resonance.
85. dpsscoiebdle org CrT&EGam_® Sl Clamam g ?
8)  wpGgen | B}  sydlellein
C) apdleden D)  yyilfedesr.
Which of the following has linear structure ?
A)  Ethane B)  Acetylene
C)  Ethylene | D)  Propylene.

86.  @weusefle ag Bl GoDhd FHoassaTown weoLw sriurellurdr garew

Q\sresoig 7

A} C H/CH, B) (CHy), C
C) TCCl, D} "CH,.
Which is the least stable carbanion ?

A} CgH4CH, | B) (CH,},C”

o -ccy, D) “CH,.

x 14001 ' { Turn over
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87.

88.

89.

Baeyd Bleseuwrer sriureiiurenes Goiay Qe

A 8, B (CH,), &n

) cH,.8n D) (CH,). &
3 2 | 3) 4

The most stablé carbonium icn from the following is

n 8, B (cH,), &

c) cH,.8u, D (cH,), &

Quitgrémen® eoflenaudies CH , . CH = CH, w et HBr Gotéens Qadyd Curg
ehg Qerwd deL sdpg 7

A} CH,-CH,Br.CH, B) C,H,.CH,Br

C) CH,=CH-CH,Br D) @eubpper agadldome.

HBr is added to CH,; . CH = CH, In presence of peroxides. The resultant

compound is
A) CH,-CH,Br.CH4 B) C,H;.CH,Br
C) CH,=CH-CH, Br D) None of these.

Fpsean. Caudalameaniier aaslqrar saut srasf uflsf @ alomear GgrLiyoLwg
&g ? ,

A) 2 e surfliy peon B) ('Ss.rr;s'uu Beraimh LGHBHH peoD

C). AesrLey Al gdames ghpd D) GU)G_)_-H)I'_IJ'EQG&T hé&e CanegyGen e
Which of the following represents an electrophilic substitution react.lon.“?

A)  Wurtz synthesis B)  Kolbe's electrolytic method

C)  Friedel-Crafts alkylation D) Dehydrohalogené.tjon.

x(1402] |
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9l.

92.

31 CSA2

OH

@ CHCL, > @' CHO (Senearemw ertiing SyeipliLig ?

aq. NaCH 70°C
Al oilgé afleen B)  efdeliubees g,m-rrrﬂggéo
C) LLd’\J-«.‘i\Ll@r&i allemen D) fuoi-gwt aleer.

' ' OH
The reaction @ _ CHCls > @— CHO 5 called

aq. NaOH 70°C

A) Wittig reaction B) Williamson's synthesis
C) Wurtz-Fittig reaction - D) Reimer-Tiemann reaction.

cg{ﬁf.LGU)lD@&»Gi;T ansUuCuear GLorpn efeande ag fesdng 1

A)  epdlebledn B) Qusdeudest

C) sfll_gload D) ol Gl renpl Gy,
Hoffmann rearrangement of acetamide yields

A) ethyl amine B) methy! amine

C) acetanilide ‘ D) acetonitrile.

ereffloryaogman® Sorgy collleire, GCarCyrumin wpmin Cergud
soaplnréaeneuiLer allesryflyd Curga He_sding. @b eloanla Quuir aeeat 2

A} aaa‘srscﬂerr@qrr mﬁlmasf B) deoarsret alemen
C)  Fwft-ewoi aﬂ]@so‘t D} Quidersy efever.

Phenol gives salicylaldehyde on heating with CHCI ; and NaQOH. The reaction is
called '

A) Cannizzaro's reaction B} Claisen reaction

C) Reimer-Tiemann reaction D) Perkin's reaction.

X . 14001 [ Turm over
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32
solflereney aryggL e allemeryfihe QuenCGrwer ghmid BLsdng 2
A)  sumlqut bbb STETLITEN allenes

B) shuasmL_LebT-Gluenpsst allener

C) el avAligh afeves

- 94.

D) @eubmei aTgieydldvames.

Benzoylation of phenol in alkaline medium is known as

A) Sabatier and Sander's reaction

B) Schotten-Baumann reaction |

C) Wurtz-Fittig reaction

D)  None of these.

o® Gaiwd Bs aaligres QUG&T@G&T@LMG&W@Y‘NE‘@GWW@U@L_@ @enemonyid Gurg)
A OuarGsnds efeuid B) Sl

C) Guenden D] QuengrédgeranQ.

- The compound which will readily couple with Benzene diazonium chloride is

"A) Benzoic acid B) Phenol

95.

C) Benzene - D) Benzaldehyde.

flertflemer, grefls Bfllell waalamadie s r shss llagaL e Qﬂsoismqrﬂwb
Curg g Hleo&Hps 7

A)  g® sTWD B) o6 oy adlicured

Q) o6 HoesTiy D) &® Gamix:

Resorcinol and conc. H, SO , in presence of phthalic anhydride produce a

| ~ compound which is

A)  adye : . B) anantiseptic

'C}  anidicator | D)) a detergent.

x{1402] [14001]
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97.

98.

33 “ . C8A2

0GymiIGures Sufleud, yGpmbles wHRID LrevUTEL gt eﬁlsmsmqrﬂmub aﬂme&mﬁ\aﬁr Quust -

T A) Gaméuev efenet

B) Qeapéd-Cadani® ensedlicvdl alenen

Q) anmGioet allenest

D} @m{[)rgjsﬁ agabldene.

The reaction of propanoic acid with Br, /Pis called

‘A) Kolbé's reaction
B) Hell-Volhard Zelinsky reaction

C)  Hofmann reaction

! ll)) None of these.

EP& &I upBIeT THS @mm&,a? Gaipore alflud Hise oapgygmdr Sevamriy

2 meurding 7 ,
A} SiH,sLén SIF, Bl CH,COCH 2 Le CHCI,
C) HCOOH a_é CH , - COOH D) C,H,OC,H, 2iéC,H,OH..

Which of the following pairs forms strongest hydrogen bonding ?
A)° SiH,and SIF, B CH,COCH,and CHCl, .

) - HCOOH and CH , - COOH D) C,H,OC,H, and C,H,OH.

2 eviflesr eresiLg

A) Osdé srellHGea B) esdle el Geu
Ci . oL sTedlells ouflen D) @u@@gnu&]& SPeud.
| A'spilrin'is

A) M:ethyl salicylate  B) Ethyl sa]lcylez-fe

C) ..Acetyl éalicylic acid D) Benzoic acid.
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99. - Iy e, Ger_eowdrar Fyar Corefluralar waralameaiies 100°C ¢ allanar b
Curg 2-sifiCarm iy e A&l | 7

A} fsflurdien edement B) uegiLés Agri edlenes
C) uCeuriravd) aflement ‘ D) Guurt elicesligit aSlsmén.

Pyridine reacts with sodamide in lig. NH, at about 100°C to form 2-amino-
pyridine. This reaction is called

A} - Chichibabin reaction B} Friedel-Crafts reaction .

C}  Favorski reaction D)  Baeyer-Villiger reaction.
100. €C4H4,CHO + CH ;CHO - C4H CH = éHCHO +H,0 afleneorfer Qi

A) OuaCGoriler gpee alamer B) | &QenseT GMIHE Seves

C) oL Gnse alae D) ©né&s e,

The reaction C ¢ H ;CHO + CH,CHO — C ;:H ;,CH = CHCHO + H, O is called -

p : :

A) Benzoin condensation . B) Claisen cpxndeﬁsaﬂon

C) Aldo] condensation D} Condensation.
101. Gurflern wrdlfl edens@eus

" A oanlme Hipwrae i D _

B) @6 daslrrd Qanadi. Sigm) Heeg Qﬂ@ﬂuﬁls&r'@mwnmm

C) an gme gpessadlest Hiporene |

D} efl @g)mrr;meu.

Bbhr's model can eXpiain

A)  the spectrum of hydrogen only

B) the spectrum of atom or ion containing one electron only
C) the spectnim of hydrogn molecule

D) the solar spectrum.

x[1402 ‘



102.

103. |

104.

35 CSA2

g Nyréefdish QuT@enenn GiaeTeeT aeigd HBHHG Semafenorerg

A) wessiger afiraldlgidle QarLfyeLwug

. B) a@m 2 boe-an aditalflzsde Qar e wg

C)  Osapgs Cpreddesdé Qamt e ug
D} Crialdigsdler Siget SubpaL et QBmL e wg.

The de Broglie wavelength associated with a material particle is

" A)  inversely proportional to momentum

B) inversely proportional to its energy
C)  directly proportional to its momentum

D)  directly proportional to its energy.

A= f STt SWSTUTL e eumelldGeur

mv

A) Lﬁ]arrrcaté; B) e dpméed

C) oapsdairs D) speitenied.

The equation A = % was deduced by

A)  Planck B)  de Broglie ‘
) Heisenberg : ' D) Einstein. H

n=4,5,6 Ambg n= 3 &6 HeGD CuTE eap o Hipnroeadie &L Uug
A) ool afaeser . B)  umevdern auflengser
C) uméwi suflans el D} ueter® cuflens seir.

Transition from n = 4, 5, 6 to n= 3 th hydrogen spectrum gives '

‘A)  Lyman series B) Paschen serles:

C) Balmer series . . D) Pfund series.

h‘

| 3-125 | u[l—@ ‘ ) h ' . f Turn over
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105. 2 Garsu ugudler Sg sgitalss vBOCUTE qmﬁugﬂd]e\ﬂ@fbgj & Q[T edT

QeueflL@eug
A) el alleveney B) evLnmid elleneney
O gefifien aflanerey | D} ambie alemeneay.

The ejection of electrm.’ls when the surface of metal is irradiated is called
A)  Zeeman effect B)  Stark effect |
C)  Photoelectric effect _D] Compton effect.

106. GLaflestn whpud Qg Cargener, GeuefLLGSHug:
A)  eaolsyrafidn saggstann B) sréném‘.qrreoﬂ.e&r ST G
C) gl semep seTow D)  gpefiuiletn g]&,sﬁ GeTEn.
Davisson and Germer gave an experimentdl evidence for

A)  wave nature of electron B) particle nature of electron

C)  wave nature of light D}  particle nature of light.

107, Cuprgeog QUTRISH SOLUTE aDTTGRsT Bjemesswetur B v = Evy. @ue f

eTeiTLIg
A) Qg_mrorh&m@ @ awed B) Gg,r‘r(Barn'.@ Qswed
C) CandalLreafdr Qawed _ D} @eubpst agieyflceme.

The time independent Schrédinger wave equation is given by fi y = Evy-, Here

Aisa

A) Hermitian operator ~ B) Linear operator

C) Hamiltonian operator D) none of these,

x[1402]
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108. (a(-i;)ez" = 2e? an H%c o gQIeT BT aTEy 7
A e | - B) e
C) e* D) efW,
Which of the following is an eigenfunction of ad; ?
[ac_i;c')eu - g g%
A) 2% B e*
) e™ D) ;f 0,
109. ypeuefifies giser eulLLurengilles abpeugTed leoL g
A e Gamenr 2 kb ..
B) apbfl Garemr 2 habd
C} G;br'rGa,nL(B\ Garam e. b
D) @eupmer argapbldeme.
The circular motion of the particle in space glves rise to
A) orbital angular momentum B) spin angular momentuhl
C] linear angular momentum : D} none of these.
110. srfa\)&'r;t'_r;n‘a'sr @5@5&@ SL_rsd e
A vy | B wy?
C)  gyrsere urdp sriy Dj @mgbgjefr e geydldveman,
The electron probability density is given by -
.“A) | ‘}u B) y?
C) radial distribution function D) none of these.
[ Turmn over
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111.

112,

113.

Qeuli Qussalue erall) asug

A} Oy Qussealus alflsome Neruppding

B} Qalutkne urppsens serallPoidle uusstuGEng

C) o6 swilds Bewaowud Qurpss Swyb LEOSLTEGD '

D)  Qeulu Guéseiusis uusu@dlng.

A thermﬁdynamic quantity is a quantity

A)  which obeys the laws of thermodynarmics

B)  which is used in measuring thermal changes

C) whose value depénds on the state of a system

D) whic}l is used in thermodynamics.

sretrg el hod Qeutiuflenen

A} @yerRb 2 sTtenmihE eveor s Lo el

B) QoG e_eennihg Lo el

C) aengrel 2 sTenTihs Seveurs, Qeudiuflenen 2_arernihg UITLT@GID
D) eaangrald e etenmihs, Geuliuflane 2 erenTihs aqéoaurrés us&&un@t‘n.
Enthalpy and temperature are 7

A)  both extensive properties

B)  both intensive properties

C) extensive and intensive respectively

D)  intensive and extensive respectively.

Qe Quésalue GreamLrd ollfller demduesy enbry eaetug ‘Geflthg

QurmefSiehe GTar QUTEEpse Qaulusas gn Qubdlysdear apeab wTHpEE
BTBTLIGY vecrervererarenas Qe apgurs’. '

A} Gleuliu Gy ghuLmoe ' B)  @ybre @lply gL moe
C) eapaau Coamenyd Glewmog D)  @eubyer ergiayblevene.

Clausius statement of II Law of thermodynamics ts “It is impossible to transfer

heat from a cold body to a hot body by a machine without .................... "
A}  loss of heat B} loss of energy
C) doing some work - D} noneof rthese.

x[1402]
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114. 6® Gure Fevo eury V, adip sen Sserelelimhe V, oain s Seralihe

Gatublene wrpT Weopulé Lﬂ'sﬂ@mg)uﬂso affleuenLyo (Surrgj savullar gy
Qaliwiu L Ceuemes ( W)

1% o .
~erﬁ Bl W=-C,(T,-T,)

A w

C) W=AV+Q D) @eupger ergeyllévane.

In a reversible isothermal expansion of one mole of an ideal gas from volume V|
to V, . work done on the system ( W) is given by

- v2 ‘
A W= -RTiny Bl W=-C,(T,-T,)

o w

AV+ Q D) none of these.

115. 2ifle SwsssddEhe GoDbs AHWHsEHDEG o6 aury allfleueLubury oygsn
Geutiuhlenes

A sflefsdpg

B) @mrpé\w

O Heaphe sfishsdpg Aeapdlé emping
D) uwrprdmsdps.

When a gas at high prcssure expands into a region of low pressure, its
temperature

A) increases
B) decreases
C})  increases in some case and decreases in others
D) Tremains conataﬁt. E
116. @@‘G\mmmmprr Qawdpenplics
4) 2pHsd LrPTLS abalLBSDg
B) Ganufene wrpm apeopidies umy aﬁlrﬂsuam.eﬂpg
C) SeCiuTeng) &rj)@jL'quJﬁ-gu_sBT .Glmﬂugsmg; uflorfé Qersrfimg

D)  GQeulub wrpr weepdid T Lu@Ang.

x[1402] | [ Turn over
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In an adiabatic process,
A) pressure s kept constant
B) thegasis iéot.hermally expan&ed
C) the system exchanges heat with surroundings
D)  there is perfect heat insulation.

117. @ alleander 6TGéT§ITQ'.)Lﬂ wrippwrerg Qeavuflaeyldér @arLiyupsd) fleaL b

_ gweTum(R 7
f 4)  gflefuey sweur® 7 | . B} &i&arice swaTUr{
< C)  Qamevev alld - D) demmdlusu-dlenrinfyrest swesLm(.
| The variation of enthapy of reaction with temperature is given by
A) Arrhenius equation B) Kirchhoff's equation
¢) Hess's law D) Claussius-Clapeyron equation.

118. Spsaan_aaseie ahg aagral eauGurwab aditbedurs GEaen 1

A) 2 BT adrgTaLl B) &eysé 2.m_nge g

C) ﬂmg,mgmn.ﬁ,e‘u Gre&rgrrdnﬁf D) o Bmeze aagrall

Which of the following enthalpies is always negtive ?

A)  Enthalpy of formation . B) | Enthalpy of solution

C)  Enthalpy of combustion - D) Enthalpy of melting.
119. dmiy Geutubleedlé

A euryaflest Gy mb aiflue Gavrsb L Hunr@GD

B) ey g6 Heelled@mha wHQDTE Harade Lorr@e{\g)gj

C) gOd-grbenvet aflenerey | sHunorgb

D)  eumy __f;r‘rmmrréa,uu(paﬁ]g)g.

At the m.irersion temperature

‘A) the second virial coefficient of a gas is zero state

B)  the gas changes from one ( allotropic ) form to another

C) the Joule-Thomson effect is zero
D) the gas can be liquefied.

«[1402 \
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120. Gauiu yHpeus@id e Curiised wrhpsHheupsten leﬁ.ﬁ’q

‘A das =4 B) dS=dqT '
C). dR = T+dq D) dq = T.ds.

The relationj between the entropy change and heat energy is

A ds = e | ' B) dS=dqT

‘"0 dR = Tedq D) dg=T.dS.

121, UV goafasdide, 2 flghssd Hporeame 2_etioTL_mgé o ) '
' A)  aaslgren Senteypugsared B) sfitapeed sflavrpemd ’\
C)  spdd ebpd GopeusT D} Qu&s ;&ubf.nénélﬂwﬂnumé- S
Absorption spectrum in UV region results from | | k
Aj electronic excitation B) increase in vibrétldn

C} decrease in rotational energy D) increase in potential energy.

122. ;(Bgtq.(‘o’mrf seBasdld aasyrd apHd o gasd Hporeoe Gebu ( o 3

EIT (T 6ooiD
A} Py sellut s phHé B) eae&Lyrer sphél wrhpb
C) aypdd ag,fj)rpé: siflefluugme D) By sefueder @mm'&ipﬁ)ﬁ.

:Revers_xal of electron spin absorptlon spectrum in radio frequency is due to

A) nuclear spin : B) | reversal of electron spin

C) increase in rotational energy D) - parallel spin of nuclet.
123. &ppé -%gi;ig)@ Paflugréd daoLseb eBéps Bin / BlgLom enen

A) SULRTTGD UGS B) UVued

C) @mqmm UG _ D) IRugd.

- The increase in rotational energy shows absorption spectrum in
A) " visible region ‘ B) UVregion

C)  microwave region D) IRregion.

«[1303] | [ Turn over
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124, g5&8louly ugddié ggpé:&aiurt;st-sycu&eﬁls'u sameu 2 Mligherems Qeadnyb 7
A H, - ~ B) CH,-CH,
C) N, | D) Cl,..
Which of the following molecﬁles shows absorption in infrared ?
Al H, | 'B) CH,-CH, !
C N, o D) Cl,.
125. afgpé,&co’m_mm.maﬂé) Ths essmpEet ahél Kyawran HyTsmea ?A
A NO | B) . HF
IC)" N, D) CO.
Which of the foll(m;ing molecules will not give a rotational spectrum ?
A} NO | B) HF
0. N, ' D) co.

126. @yrwen Biydoromdd sphd o bped wLLksEnsda Guuirer mrr@g,g;jé:é:lfﬁi_-
Qe eldurerg ' ' '

A) Ad ==21 _ .B) AJ=+1
C). AJ=+2 . D) AJ=zx2

"The selection rule of the transition in rotational energy levels in the Raman ’

spectrum is
A) Ad=z+1" ~ B) AJ= +1
Q) AJ=+2 D) AJ==x2



L

127.

128.

43 , - CSA2
@orodr  plyeuvroedld, visgiflda oppe  Hspadp s
S QaanaipgBes. Quurear elgdHuran

A) #Curs auflsen : B) edli-euwBLrs euflgelr

VC) Qurwest bl Gleveds D} p-dlevenaei.

The difference between thé_ incident and scattered frequencies in the Raman
spectrum is called the

A)  Stokes' line B) anti-Stokes’ line

C) Raman frequency . D} p-branch.

@ e whpw walleaiyeerée IR Birawracdis dpsec. aaaalle abg Ber

"ot Qleustora.eflés sientoyd 2

A) 1500 Gis 8 - 1 &b 2000 Qg .5 ! .és@fn @ flé
B) 2700 Q&1 @b 3900 Gz S ! H@id Geruiid
C) 3900 Qe.f! s@b 4000 Q815 ~! &@id Qe
D) - @euppyer ergiaydleenc.

The double bond and triple bond can be identified easily using IR spectra in the
stretching frequency '

A)  between 1500 cm- ! to 2000 cm ™!
B) between 2700 cm ! to 3900 cm - !
C) between 3900 cm ™ ! to 4000 cm - ! '

D} none of these.

X . 14001 [ Turn over
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129. srfuemend Ogredlldar B HftGeucir
A)  1725Qe.8 ! s@b 1650-61&.15“ &@b GeoL e
| B) 2000 Q&8 ! 5@b 1500 Ge.f ! @i GeoLdie
C 2700 Qef-? s@b 2100 Qe £ s@d Gedlé
D) 2900 Qe.f-?! &g 280d Qe.f -1 @b G,
The carbonyl stretching frequency is
" A) between 1725 em-? to 1650 cm - ! .
B) between 2000 em ™! to 1500 cm -1

C)  between 2700 cm~ ! to 2100 cm !

D} Dbetween 2900 cm~!to 2800 em ™! .

130. Al , Cl ;, @ eugeennly SpssdaL abgs Blyowroa opous C&Tnd

SPluerd 2 .
Al  @ymwedr B) UV
0 IR | D) NMR.

' The existence of Al , Cl is found by

A) Raman spectroscopy B} UV spectroscopy
C) IR spectroscopy D) NMR spectroscopy. .
131. CH ;.CH ,.Br peéampflip® NMR flycnrarenilé aﬂml_é.e,é,e.hm(m GO G aafle
 acnafsas | . . .
A e : | Bl @yand
C) - wem ' D) mreéng.

The number of signals expected for CH ;.CH ,.Br in NMR spectrum is
A) one B} two
C) three D) four.

x(1403] | o - [38001]
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gl 7

NMR Gﬁ\mr}rﬁj&;sﬁ
3 1:05 & epediy GHWIE ( Triplet at ), 3H
3213 g® @lﬂqﬁ’@! ( Singlet at ), 3H

5 2.47 & preve GOHSE (Quartetat ), 2H
o
A} CHS-CHQ—?; - CH,
B} CH,- FHQ CHO
CH,

C) CH,-CH,-CH,- CHO

D) CH,-CH,-O-CH,-CH,.

C8A2

- 132, C,H O apavdsan _sumhtiurr@ QaranL Garwgdlen angeud efgpé»&sﬁon_mméaﬂd):

Which of following structures is correct for the compound with the following

NMR data ?

Melecular formula — C ,H O
Triplet at § 1.05, 3H
Singlet at § 2-13, 3H

i\Quartet at 82.47. 2H
Al CH,-CH,-¢ -CH,
B) CHy- CH- CHO
CH,
C) CH,-CH,-CH,-CHO

D) CH,-CH,-0O-CH,-CH,.

xl 1402] - { 14001 |
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133. UV uflé, asrew .guﬂ"@lé,&:nm N - H 2 flghe ulenL ahg e amemile

Sowdng
Al 3300 — 3600 Gis15- " " B) 3000 —'3200 Q&S
C): 2100 — 2260 Qs s~ ! D} 2500 —3500Q8.8".

~ The primary amine can be identified by N - H absorption bond in UV at
A) . 3300 — 3606 cm-! _ | B) 3000 -=3200 cm - I
C) 2100 — 2260 em” 1 D) 2500—3500cm- 1.
134. flevp Blysvnrenefiéy cpevbonny swett 64 {m*) e g
Al CgH, Bl CgHg
- C) CyH, ' DD C,H,.
The mass spectrum with molecular ion 64 (m*} is
A C.H, R B) CgH,
C) C H, - D) C,H,.
135. NMR & OLrgeiase doLsssamqu gRiGaels aanafsams
A) 2 B) 3
C) 1 D) 4.
The no. of signals obtained for Toluene in NMR is
A2 | B) 3.
Q) 1 D) 4.
136. NMR-&s @@aenr@yrunih abgoen @pllifsamer ( signals ) Qupdl@eéed 2
A} geigy | - B) @Queo®
Q) epatmy D) mréng.
How many signals will you obtain for chloroform in NMR ?

A} One signal B) Two signals

C) Three signals ' D) Four signals.

x[1402]
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137.

47 - CSA2

IR 9@ augiléa, Seunra/alifleuras 2 Hlgrase 3400 Gls uf ~! & perL Glupding.
LT |

T A) Fhegd ésanTd B} eoLSgeogd kST

138.

139.

C)' 28 CLren D) Eleubmye Grgjm@éumd.

A strong and broad absorption at 3400 cm ! in IR spectra is

A) Ethyl alcoho! B) Dimethyl 'ether

Cj Acetone D) none of these.

poudhdam HD L kisener] QuUTDibHE) af@&aafan..smm&ﬁﬁa’a ag sfluren snbry 7
A) - E(qméignmﬁéa ) > E{sidltey ) > E (aphé) )

B)  I;Jlarkpj)é\ ) >E(a|é1r'rq)>E{ersué,r_grr;uﬂs)

Cj - E( srmét.r,rrrasﬂé ) > E (apbddl ) > E (sifirey)

D) E (:gqé\ffsq } > E(aesignefls ) > E (aphé ).

Which of the following relationships is correct regarding molecular energy
levels ? _ '

A) E( electronic ) > E { vibrational ) > E ( rotational )

'B] E( rotatl.onal. ) > E { vibrational ) > E ( electronic )

C) E { electronic ) > E ( rotational ) > E { vibrational )
D)  E(vibrational ) > E ( electronic ) > E ( rotational ).
™S HGIJ‘ITI;L_I‘FIG)ﬂﬁ Cardlliwe pata-odiy

N o B 2

o 1 | D 18

" The chemical shiift of the TMS protons is assigned a value of

fA)' 0’ , B 2

C) 1 . D} 1.5

x{1402 , , | [ Turn over
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140. NMR-& uGymivsmeledn efiipaean ( signals ) aanasms
A Qoo | B wen
C) preig D) g
| "l"hc number of signals obtatned for prop.anal in NMR spectrum is
A) twosignals ' B} three signals
C) four signals D)  five signals.
‘14'1. Spbson_eeuseiid eg d whpid lwmj)@m'mmm QubBmsSng 2
A [co(NH3)401;101 B) [CO(NHS]SCIS]
C) ediuss [coten)2012]+ D) @®uém[C0(en)2'C12]+.

Which of the following complexes can exhibit d and [ isomers ?

8 [co(nu,), a,]a B [co(nu,) cy]

C) trans [CO(en),Cl,]" D). Cis[CO(en),Cl,]".
142. ahg sgrger semanreyd Cotwbd eugeu wrpluganss CamranBererg ?

A MA, | " B) MA,B

C) MA 2B 9 D) MABCD.

Which one of the following square planar complexes will exhibit geometrical

isomerism ?
A) MA , B) MA 1B

C) MA,B, D) MABCD.
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143.

. 29 | csa2
Ca 2 * firws &.mg&e&m EDTA eneué @aﬁa@m@un@a 3 @@ ;ﬂmeolurran Seneweyd

Berwpens QHETRHADE. SHTTTH BBV ....oiivirersrrenes evebrLIft.
A efpugersen syed B) Qeégdui sjaf - ..

C) §O&sah syes D) mOboeursghd ﬁu‘cbbﬂ

When EDTA is used to form a stable complex with Ca 2 *in ag. soiution. it is
often referred to as a ’

A)  precipitating agent B)  sequestering agent

: C) reducing agent ’ D) neutralising agent. 7

144,

e t"

+

S,

145.,

['I‘i (HQ-O) s] 3 Swes BpepL-1 Gimés sryemd

A T é{@aﬂe&@w hHODr® Sigmelbhe Tasmyre uflorhpb
B) B epevsaansHeT 2 alergre

3g PLULSESBHS €, U L_SElD@ eTevdLTest lDrI'lj)l.DL'ﬁ‘&Gﬂ)l_G'ltJﬁl'l’G\)
D) qpebapsg 2 aiCarBu fitaypigee.

The colour of [Tl [ H20) 6] * jonis due to

A) transfer of an electron from one Ti atom to another

B)  presence of water molecules

' C)  excitation of electron from ¢, to e level
j e

D) intramolecular vibrations.

oFls  oerallde 2 den HpCoralurallée AgCl sogué srTrad g

E\p&&cHon_ eneuaaller aTHEma 2 GHTL_THGBITE 7

A [ e (nny), ] B [ae(M,),]"
o [Ag(NHs) ]2* D [Aag(NHg), ]
AgCl dissolves in excess of ammonia due to the formation of

A [aem).]’ B [Ae (s ]
| [Ag(.Nﬁa)zlz* D) [Ag(NH3)2]+

x[1s02] - _ { Turn over
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146. @ml_@su;mg geoflomisel @@fﬁ:&mmﬁ Cupfl@ées argemid

A Adu seney B)
C) Blevawiurer d erevsiL.IiTebSel D)

- Transition elements are coloured due to

A) small size B)

C)  unpaired d electrons D)
147. Ni(CN)% ™ sufdgisior Gerssany

A)  dsp? B}

C) d2?sp - D)

The hybridisation of Ni { CN )_i T ionlis

A) . dsp? ' B)

Cl d2sp D}
148. sveulLifler B |, & 2_6ffen Gl Hleraus seflobd

A)  Fe B

C) Ni D)

Co

2 Cona g HeiTanin

@ubpish o goypddere.

metallic nature

none of these.

sp2d2

sp2.

sp2_c12

sp

Na.

The transition metal present in Vitamin B, is

N Fe ' B)
(‘3) N - D)
149. veflgafldr Quss Heuliugmiaile 2_erer gafivid
A) Fe - _ " B)

C) Co

D}

Co

Na.

Ra '\ g

Qe sarsgib.

The element present in red blood cells of man is

A Fe . B
C) Co , D)
<757 (38001

Ra

all of these,



-
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150. fesrary udysefies LwBTLESSLUGD Glemip sr[r,ﬁ, 2 Caraggre g ?

A) Pt B} Fe
C Cu B ow
Which metal is used generaily for the filament of electric bulbs ?
A) Pt B) Fe
€ Cu D} W.

151. a;_;,é.qmsur@&efr STETLIERG

A) - Q&mbmm geflohigel
‘B) . geflod 104 g 2 ehen_sdug
C) . ‘wrgult. o saligCGarpp srafcr&,smmu.}mi_mmcu

D) Aflg sreCo GEssssmgu pGarGLriiysaer Qe ana.
Actinides are

A} all syrithetic elements
B) include element 104
C) have variable valency
D)  have only short lived isotopes.

152, 5 fauhos wlLb dylb aaslgraisamen 2 L Lenel

Al emhgenatHiser B) . Qo Bleres safivhiset
C) bgoa@sel D) oflu eurydeet.
- Electrons in5 Sfenergy level are filled up in case of
A). lanthanides | ) | B) 7 t‘:ransitlori metals
C) actinides - D) rare gases.
153: _agrﬂﬁrja.@mrrw&;ésﬁ suflemsdles e geflob |

- A)  ycflub : B) sy sgeflub
C) erhgerid | D) fAub.
The first element of the series called rare-earth is
A) . Yttrium B) Actinium
C) Lanthanum D) Cerlum.

x[1403] [14001 ]

CSA2

[ Turn over -




CS8A2 52

154. dpsacm. reflachih ag Sifls Lys Yo gubpoe o S THED ?

4A) CO B)

- C) CN- D)

NO;

@lemeu SeETHFID.

Which of the following ligands produce(s) a high crystal fleld splitting ?

A co S -
0 ON- . D)

155. erévaurr By éigeneTRSHEHD

A sPflusspgdrenn sppae B)
C) | W SThE HE5 OISO WEHeU Dj
All actinides are
A}  non-radicactive - B)
C) diamagnetic . D)
156. g énaoa@omer o, arpgomean® Cafokiass
| A)  argd getemio @mm{;ﬁmm _ B)
C) sbegpaon Gopheaa D)

The compounds of lanthanides are ...............

A}  less basic B}
C) less acidic D)
‘l 57. enrpganrer® Gotrwhiseflcr LAuehT &6
A)  srubiset - B)
O cuatmremrd - D)
Lanthanide compoﬁnds are used as

A) dyes ' B)

C)  paints - D}

x[1408] |

NO, ’
All of these,

sfifluéasserann 2oL wene

Cribler uweflser Hipwhneeu.

radioactive

cations not coloured.

shEgaTew Wihsene

258D HOTWE saig U,

...... than actinides.

more basic
more soluble. *
eanemy, bdlaeh

@eubmiet argieyblsvene.

catalysts

none of these.
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153. aThg e BasT DHDID i i enenGaei |
'A) SfQgrgd gaNohieel B) sQared paflohse
C) pQgred sallvhser D) dogrgd sllohsel,
Lanthanides and actinides are called
A" fblock elements B) s block éleﬁ;ents |
C)  p block elements D)  dblock elements.
159. enrpsaa@sd Spsaan_aubde addehs OuUPLLEHDE ?
A Geweern B) ' Gurerensi wein
C) uréemsl. D) .. CapwenLL . . .
Lanthanides are extracted from |
A)  limanite B) Monazite sand
C) Bauxite : D) Haematite.
160. soLnié @mmémrn.’-q?mmﬁ LLTLESS Ephac_oauseisd apamet Sy 2
A s soredgisior @epdlstdy Bl @rsssdle ster UGy e |
o e SGury e sayee D) @‘75‘55555]‘5’ 2. sher g,
Starch ca_n.be used as an indicator fot the detection of traces of
A) ' glucose in aqueous solution
B)  proteins in blood
C) iodinein équeous 'solution
|9)] urea in blood. |
161. gyrerGam Quéafflub Gaiohisel ey
A) Queln syeh | B}  umt@uil syesil -
C) = Quet e syt | D) Hfsemil sye.
(.)rganomagnesi.um compounds are known as
A) Fehling's reagents B) Barford's reagents

C)  Fenton's reagents D}  Grignard reagents.

x | | Turn over
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162. @Gmn(ﬁgmﬁld\) DHIID QI 60 .ovvirrerearinne mnm&u@aﬁmg}.‘
A)  Oflgest By seflwen
B)  IfiGymredligstr by seflwev
cl  urilen By sefluey
D)  sCangliGerelen By seNudy 2 efeng.
" Chlorophyll and haemin contain ' 7
A) pyridmé nucleus B) pyrcﬁidine _nuclcus'
C)  porphin nucleus | D) ;soqulnollne nucleus_. '.
163. @usssdeycrer afGumeGanrilemnso mrrgbg)é.mw.[r;@é Ty
A co B CO,
o No, | D) SO,.
The poisonous gas that destroys haemoglobin in blood is
A CO ' B) CO,
C) NO, D $O,.
164. sbpEgpeie CO, -0, suflawau ,rﬂmm@@ﬁ;g,m- @upens Bipd
A)  enwCurgGermlles ’ ' B) @Gmt.rGerSl;{u
C)  edCamrer Hpd D) gGsrSiCaGanenseh.
The natural pigment which maintains CO,- O, .equﬂibrium in atmosphex"e is
A)  Myoglobin _ | B) Chlo;oéhyu
C}  Quinone pigments D) Isoﬂavonesi ’
165. Fe {CO) g ¢ augeusmiy o
A) aaopdl B) g,rrasér(gseﬂ
C) wp&Garem @ JrHE D) spnCaremib.
The structure of Fe ( CO ) 5 IS '
A)  Octahedral | ‘1'3) Tetrahedral
C)  Trigonal bipyramidal . b) Hexagonal.

x[1202] [14001]
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166. DNA apevdsndlest Spqliuem. @)enaseyseir
A) A-C.T-G B)
0 A-G.T-C | D)

The base pairing in a DNA molecule is

Al A-CT-G B)

Ct A-G T-C | D)
167. Qsienie ereTiog

A) BTCL.Té Byeva T B)

Q) Srﬂtq.sﬁr Svseumibif D}

Reserpine ‘s a/an

A) - Indole alkaloid . B)

C)  Pyridine alkaloid D)

CcsA2

A-T,G-C

A-U.G-C.-

A-T,G-C

A—'U‘ G—'C.

wlareliGarreden syamemi@

@WGestredlan Sevaaumril.

Isoquinoline alkaloid

Quinoline alkaloid.

168. aﬁ’@pémm‘smmm&sﬂéurs@ suamil apempiié surféaiuGepg 7

A) sUCearmeer B)

C) . LDlTﬁ'oaoLﬂGfﬂ D)

@\egorig Ganir

iomgulaiL_mehy,

Which of the following compounds is prepared by Skraup synthesis ?

A)  Quinoline | B)

C)  Morphine D)

Indigo

Maltose.

169. @luure ahg aleendle gisrCanmm sssprad LuETLESSILRSEDE 2

A) - Aurroceéudl allene B)

C) Jiflge dgroev alemer D)

Guirdle alement
QuBeurevdl alleneor.

Organozinc compounds are particularly used in

A) Refdrmatsky reaction 7 B)

C) Friedel-Crafts reaction D)

«{1402]

Perkin reaction

Favorski reaction.
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170. QuLGrrellér LwaTuRSSLnHD Lsﬁ@s;JLq,ﬂle &{HuY Qumrmer
A) .a_{,r'r@a,_rr@wrrr BIHBHTHD C&find B) @terGem lgdud Garrob
C)  Guigr epdle emfud D) gyierGear Ousaiafud Gaiwb.
The anti-knocking agent used in petrol is
A) organozinc compound | B)  organolithium compound
C) . tetraethyl lead | D} organomgnesium compound.
171. @@ a&e ‘aJre’ aap Senpseuuliolg)
A 28 a6 Lée WHDID il LGS LTHnGeen Qu-;b(ﬁ\@éa@m Curg
Bl s ser ftemvaut QubBlmagnGurs
C) 5 eowbw Freowewl GubBGsEn Curs
D} sipdn sty aflogreilidier g QuTEbems Gurs.
A molecule is said to be chiral
A)' if it exists as cis and trans isomers
B_) if it contains a plane of symmetry
C)  1if it contains a centre of symmetry
D) if it cannot be sﬁpeﬂmp(;sed on its mirror image.

172. wpgdow HHCHm Hbflensalle Spssauoaunaile a5 D wHhmd L aige

Siewlysaeat Qubdlmpssaldame 7

A) LT eMEVEdT B) emevéledr

C) eurdlen D) Hlevendleir. |

Of the principal amino acids which one of the following cannot exist in D and L
forms ? |

A) Valine | B) Lysine

C) Leucine \A - D)  Glycine,

x[1402]
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173. Hpssam_aeusdia ag sids Blavalys peran QareL. augeemolly 1

| CH; |
_ H H .HH HCH;»,
A) | B)
H H | .
~ CHs | © H CHz

=

, ‘ H
: A) . | B} ‘
| . H H

CH3 H CH3
CH3 :
H CHy H i CHjy
oo CHj;
Q) D)
! H H ' '
. ' H H H

'174. gheonU dlmamuq&,@aré, Gearan@® &pboid Gurg 2.0 M&s Gagw wrmulL
Soblys e & aesald g aaut 7

4a) . wrhdlukiser B)  augeu wrphdlukiselr
0 C) srasrs&Ts\ﬂGu;;rrmr'r&.a'T " D) eus eugevennlimel.

Different arrangements of atoms that can be converted into one another by
rotation about single bonds are called

- A) - isomers B) geometrical isomers

Q) enantiomers D) conformations,

;; [ 1402 : ' [ Turn over
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175. dpssaoanaismalle g augeu wrplugeangl OubpieTeng 2
A) 2-0ytiee | B) 2-fsmse 2-Siyl e
C) yCpmuSén | D) 1, 2-wLe8amCyr yGyriGue.
Whi(.;h of the following éompounds shows geometrical isomerism ?
A} 2-butene ' - B)  2-methyl 2-butene
C}  propene . - D) 1, 2-dichloropropane.
176. Spsaem acuaeiles ag) geflepbd wrhHtd s Go ?
A) 1- o @eorm QuiaT@L et B) 2-o0Comm QietGLe
C) 3-ouhiGerr Quer@L et o D) 2, 2-oLibsamge GTreudh b
Which of the following compounds shows optical isomerism ? |
A) 1 -amﬁlopenta.ne B) 2-aminopentane

C}  3-aminopentane D)} 2, 2-dimethyl propyl amine.

‘
177. cwe&Qemt QamsGaaller ahs m&@qmmm&q EAFAT: gﬁ\smmuqs geﬁre&;m Qe raieL g 1
A)  prhEs eugeud - B) uL® eugeubd
C) urd r;ﬁgbmrrsﬂ QUL eUD D) @@é@ GviIg 6ULD,
'Ifhe_ most stable conformational 1slomer in cyclohexane is
A)  chair form : - B}  boat form
C) half chair form D) twisted fom_).
178. welillé I.DIj)@jll.) Ly o1& a;@mﬁjs;efr STL@D Uedory
A} G LrGuflsn : o Bi Qangd wrHdhub
C) mﬁ,m wrHafiud : Dj e wrHeilusb.
Maleic acid and fumaric acid exﬁibit
A) Metamerism ' _ B) Functionél isomerism

C) Geometrical isomerism D) Optical isomerism.

«[i402]
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179. dpsaaemasdfle ag gofl wrpud s @b ? |
4A) op Gy 85Cgen - B} eulSwmed
C) dleflegréngeran® ' D) - FHsdlen Hleensme.
Which one of the foliowing compounds exhibits optical isomerism ?

A) Nitromethane B} _ Biphenyl
C) Glyceraldehyde D) | Ethylene glycol.
180. suréoL b HpbLes aetg) SpéaaoiLeneuaeiles ahy cumaows Catbsgl 2
A Sy 1l B) S, 2almer
C) - E, oflenen ' ‘ D) E, elleven.

Walden inversion is a type of
A) S, 1 reaction ‘ B) S 2 reaction

C) E reaction D) E, reaction.

181. SCumgehr £psseiameumalles g s abinsass Qar@sdng 2

A) eer&Geamea B} OlaaguGerey
C) eoLmiE i _ D}  JgsGurmen.
lodine forms a blue complei with |
A) Ghacose ' B) Cellulose
C) Starch ) . D) Fructose.

182. duLmTié ereiTug) &5 Lmell &ﬁé:e,so)g. DY cererernrenreneenne 260 DTG

A) @EpsGarsv whprd LipsGLmey

B)  ZeowCardy whplh HHCarGiuds e

C sonlerd mg)ggjtb FlanerGarGlgeit

D)  3eowCeor Quéget whHpb dener@amspe.
Starch is a polysaccharide made up of

A) ~ glucose and fl‘l;lCtOSC ‘

B) amylose and amylopectin

C)  amylose and glycogen

D} amylop'ectln and glycogen.

x ' 14001 [ Turn over
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183. gCr cuemawner G\n ghops sitésopse Ceihg 2 aLré&gh Gl sTsaemy

&g 7
'A} G ren B) & &Gymen
C) oordsBimev | D) GeaeayGeamev.

An example of disaccharide made up of two units of the same monosaccharides

is
A)  Maltose B) Sucrose
C) Lactose ' D) Levulose.

184. DNA aliév @eveurs RNA allév oL Bid 2 6efrem ST gpeold eTgy ?
Al gufen Bl yrélé
C) sy D) @surenemedt.
" Which of the following bases is found only in RNA and not in DNA ?
Al Thymine B) * Uracil
C) Adenine D) Guanine.
185. opfiGair gpflebdlenen Ly g 2
A) PIlLewnf _ B) <pCureflur
C)  yGumiees D) Genrepiy Sybekiget.
Polymer of amino acid is
A) Acetamide B} Ammonia
C) Pf;tein D) Fatty acids.

186. @QenrCyr ergpfleSecfletr Loy ergy 2

" A) PVC B) mgmrrs&
Cl Qi_Medest D) QLD@WG&L
Polymer o‘f chloroéthylene is
A | PVC B) Nylon
C) Terylene. D)  Teflon.

% ! 1402| 14001
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188.

189.

190.
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Fpheau_mausdie ag CLrad srafaow HREGD 7

A) GEnsGaray - B) . &&Qymev

C) Sssaimd D) ¥lgés oybed.

Which of the following t:omi)ounds reduces Tollen’s reagent ?

A) Glgcose B) Sucrose

C)  Methanol D) Acetic acid.

S GLTenervwid, efﬁ.(%t_rremfmin Slrﬂ&,gg.r_&u.l 2_geayb &,jewﬂ

A uGgmbles i B}  Gueii HEFEE

C) GLrevshr senyed D) @eubper agapfleiame.

The reagent that can be used to diferentiate an aldose and a ketose is

A} Bromine water B) Fehling's solution

C)  Tollen's reagent D) None of these.

a~ D - gensCsen JrGaimev apadbaaple 2 eirem SFremvwhn STTUET Siggsbesiie
&t ot col & 6 8 -
A) @Ueﬁ@ B) préng

Q) ey D b

The number of asymmetric carbon atoms in the o - D - glucopyranose molecule
is

A) two ‘ B) four

C) three D) five.

QU emesr aTaTD UG\}ULQ.US]G')T. S L &g 7

A) @mrr(?;smrr Sl @enmGyn wgedledn B)  eLdoyBerrCymr régedlen

C) Loy yBenGyr wgpeletr D) Quigr yGetrGyn s&eellen.
Teflon is a polymer of the monomer |

A) monofluoroethylene B) diﬂuoroethylenq

C)  triflucroethylene D}  tetrafluoroethylene.

x[1402] ' ' [ Turn over
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191. piwksamens SrUeLILGHS LUSTUL TS (peop &g 2
A) @@D@rﬂma& B) it gl aarru'.aéﬁ LYY 3=
C)  ugheLTH® ‘ D) &mibéd eugps. |
Which of the following methods is not used for purification of liquids 5
A) Chromatography B) . Steam distillation -
C)  Sublimation " D) Distillation.
192. w@Hscugiopde, sdlifluse |, NA 2 agbhel uusTuRSsULES DG 2
A)  qpever 2_sremmiey B)  ybpGrri w@mdgiedd
C) ApBys 2 erermiey D)  7ssb slguGuret @L_wlﬁg,s'\a.
In medicine, radioactive |, NA ?* is used for
A)  brain scan 7 B)  curing cancer
C) kidney scan | ' D)  location of blood elots.'
193. finuiPNes waple aseameans SN sH&HeTD 2 | _
Al | greuy dloblaet B) saomalddehs Ao Ay ugdaest
C) &t&@c&rr Dbl eurkis6ir D) Qe &@mﬁgm.
Chromatographic technique is used in the separation of
A)‘ plant pigments B}  small samples Qf_ Mures
| C) amino acids D} all of these,
194. &0l B UeLIg 6@ Sp&sa@oTLoubPlé) 618 2-HTTEOTD BEV6w 7 ..
A)  unedlenveniflet B) PVC
C)  ureSiygiueSes D) smr,r;.surra'sr. |
Which of the following is nc.)t an exampe of addition pc;lymer ?
A} Polystyrene B) PVC

C) Polypropylene D)  Nylon,

x[1402]
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195. éaﬂ & piHIID LIGeT (b

A gohdlacihg Loy

B) GQur@a@tiemo sTTUbD LY

C) &l U uetory

D) &0 whpo GERSlmeEths Uy,

Optical activity is

A) | constitutive property

B)  colligative property

C)  additive property

D) additive cum constitutive property.
196. owoed Houusdpeia siee

A). ury G B} o6

C) Nm(fycier i) D eeu.

The unit of dipole moment is

A) faraday B) joule
Ci Nm D) debye.
197. @gpevenaupn (Pevdan s en a_errsn gon sEler auflGu Seyesamg CegisaoCurg,
(e S G G
A)  fevenrh uGdsiuGSpg B) JfSer@ampmwerdlpg)

C) 2@s dloo sppe Qupdlepar D) peeneypdlepear.

'Under the influence of an applied electric field across a medium of non-polar
molecules, the molecules of the medium

A) - 'get electrolysed
B)  get charged
Q) acqt'ure higher potential energy

D) -get polarized.

X ’ ' { Turn over
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198. Hoaurat Geupeer FBlsdnasr LHnD Woaapiss 2 duaban &pé e
eraubenmsd Clamesor( ybwern 2

A} @m’é;au@ : ‘ B) Guren aperesiaypise

C)  geflapnd | _ | D) gef aiL_r'r&,Q.

The permanent dipole moment and polarizability can be determined by knowiﬁg
A) molecule B) molar polarization . -

C} optical rotation - D) intensity of light.

199. slgen bhpd wrpppHemer | A G) o swafids { E ) EMF 2.6 ercucumpy
QETUiyuBssard 2 |
FE ; RT

A) AG=-ﬁ B AG —ﬁb‘lE

U

C) E=-nFAG _ D) AG = -nFE.

Free erergy change ( A G) is related to the EMF of the cell (E) as

FE » : __RT
A) AG='R_T B]_AG-~nF[nE
C) E=-nFAG D) AG = -nFE.

200. Pt /Fe?*(C )}, Fe3*( Cz)llﬁ]ﬁT@@aﬂl
A} euny Berapenen et
B) urrg,p'a- iflesT(pen et s el
Cl] 2.QGeans-2_Gears sevgur 2 iy t&s&r@mﬁ&sﬁ
D)  whs 2 Bars Detpenarasr. |
The electrode Pt / Fe2*(C,),Fe3*(C,) belongs to the type
- A) _gas electredes
B) amalgam electrodes
C)  metal-metal insoluble salt electrodes

‘D)  inert metal electrodes.
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Booklet Series A : * Register

Number

2010 .
CHEMISTRY

Time Allowed : 3 Hours | ‘ [ Maximum Marks : 300
Read the following instructions carcfully before you begin to answer the questions.

IMPORTANT INSTRUCTIONS

1. This Bookiet has a cover ( this page ) which should not be opened till the tnvigilator gives signal to
open it at the commencement of the examination. As soon as the signal is received you should tear
the right side of the booklet cover carefully to open the hooklet. Then proceed to answer the
questions. .

2. This Question Booklet contains 200 questions.
Answer all questions. All questions carry equal marks.

The Test Booklet is printed in _four serles e.g. or [D] (See Top left side of this page).
Thie candidate has to indicate in the space provided in the Answer Sheet the series of the booklet.
For example, if the candidate gets series booklet, he/she has to indicate in the side 2 of the
Answer Sheet with Blue or Black Ink Ball point pen as follows : '

) [aA]J(B11CI1(D]

5, You must write. your Register Number in the space provided on the top right side of this page. Do
not write anything else on the Question Booklet. )

8. An Answer Sheet will be supplied to you separately by the Invigilator to mark the answers. You
must write your Name, Register No, and other particulars on side 1 of the Answer Sheet provided.
failing which your Answer Sheet will not be evaluated.

7. You will also encede your Register Number, Subject Code etc., with Biue or Black ink Ball point pen
in the space provided on the side 2 of the Answer Sheet. If you do not encode properly or fail to
encode the above Information, your Answer Sheet will not be evaluated.

8. Each question comprises four responses (A), (B), {(C) and (D). You are to select ONLY ONE correct
response and mark in your Answer Sheet. In case you feel that there are more than one correct

@

response, mark the response which you consider the best. In any case, choose ONLY CNE response .

for each question. Your total marks will depend on the number of correct responses marked by you
in the Answer Sheet. .

8. In the Answer Sheet there are four brackets [(A}[Bj{Cjand [ D j against each question. To

answer the questions you are to mark with Ball point pen ONLY ONE bracket of your chotce for
each question. Select one response for each question In the Question Booklet and mark in the
Answer Sheet. If you mark more than one answer for one gquestion, the answer will be treated as
wrong. e.g. If for any item, (B) is the correct answer, you have to mark as follows :

()l (C][D]

10. You should not remove or tear off any sheet from this Question Booklet. You are not allowed to take
this Question Booklet and the Answer Sheet out of the Examination Hail during the examination.
After the examination s concluded, you must hand over your Answer Sheet to the Invigilator. You
are allowed to take the Question Booklet with you only after the Examination is over.

11.  The sheet before the last page of the Question Booklet can be used for Rough Work.

12. Fallure to comply with any of the above instructions will render you liable to such action or penalty
as the Commission may decide at their discretion.

13. - in all matters and in cases of doubt, the English Version is final.

14. Do not tick-mark or mark the answer in the Question Booklet.
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